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There is a ‘Cool-off time’ of 15 minutes in addition to the writing time.
Use the ‘Cool-off time’ to get familiar with questions and to plan your answers.
Read questions carefully before answering.

Read the instructions carefully.

Calculations, figures and graphs should be shown in the answer sheet itself.

Malayalam version of the questions is also provided.
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PART -1

A. Answer any 4 questions from 1 to 6. Each carries 1 score. 4x1=4)

L

The concept of “Look at yourself from others view of point™ is called

2.  The number of females per 1000 male in a given area at a specified time period 1s

3. Community that succeeded in acquiring a state of its own is known as

4, In traditional political system of Khasies, each clan has its own council known
as

5.  Migrant workers have been termed as by Jan Breman.

6. Name the personality who opinioned that media has to function as the watch dog of
democracy.
(Mahatma Gandhi, Jawahar Lal Nehru, Annie Besant)

B. Answer all questions from 7 to 10. Each carries 1 score. 4x1=4)

7. A well known American Sociologist observed that sociology can help to
map link between individual problem and social issue.

8.  According to Satish Sabarwal, the three aspects of modern framework of changes in

colonial India.

Form of Nature
Organisation of Idea
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PART -1

A. 1 ;O 6 OO GaR3EMGIA3 aBOmBIeNe 4 aFPATIN DOMOo A PL®)d.
1 capad ofla.. (4 x 1=4)
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!'d

80) Ml aesalad 1000 anopeumdaddses o) o (riesnoas
(YSROS af)gnOTD ag)am alO®@)aM).
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ad)aTMalOWaM).

4. UOMISHEHS aloMIOy AEHI® AIIMOQI@ B06R0 &)eICTIIM)a Moo
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0. The Chief Architect of Indian Constitution 18

10. The sale of government owned public sector shares is called

PART - 11
A. Answer any 3 questions from 11 to 15. Each carries 2 scores. 3x2=6)
11. Define fertility rate.
12. Define Matriarchal family.
13. What is ‘status symbol’ ?
14. Give a short note on Industrialisation.
15. Give a short note on Culture and Consumption.
B. Answer any 2 questions from 16 to 18. Each carries 2 scores. 2x2=4)

16. Explain the term ‘Reservation’.

17. Define ‘Untouchability’.

18. Define feminisation of Agriculture.
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PART - 11

A. 11 ay®a3 15 Ao 6a13ymglol agomslene 3 a)spaTIm 2OM0o afy9}®)d.
2 capod alla.. (3 x 2=6)
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14.  QIQITLOVAIBAHVEMODAD &)01a] B0} 2101 AflAIEEMo MM

15.  TUCIPOVCADW)o RaIGEINCANW]o &)Tla] B} LI*eN BD)Ta] ag)F)®).

B. 16 2a)®ad 18 aiew Gasoniemglald agomeleno 2 ADFROTIM QTN af) ¥}

2 capod all@.. 2x2=4)
16. “‘TUoUOEM.’ ag)aM alBo AflVDAlB:@106)B.
17.  ‘@paysvos®’ aildqaflee).
18.  @0BaHl@alomI)es AI®O AIEBsnosmo 89 a llane. |
5 P.T.O.

ME-538




PART - 111
A.  Answer any 3 questions from 19 to 23. Each carries 4 scores. (3 x4=12)

19.  Distinguish between geographical map and social map.

20.  Give four feature of caste system.

21. How does globalization effected Indian Industry.

22.  Write short note on the following :

(@) The transnational corporation

(b) The electronic economy

23. Explain.

(a) Redemptive social movement

(b) Revolutionary social movement

B. Answer any 1 question from 24 and 25. Carries 4 scores. (I1x4=4)

24. How does the liberalization effect the Indian Market ?

25.  What is the importance of community identity in India ?
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PART - 111

A, 19 amad 23 oo ¢aaymglad agomses 3 a)RODIM ROMOOAYL®).
4 aapod aflov.. (3 x4=12)
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PART -1V

A. Answer any 3 questions from 26 to 29. Each carries 6 scores.

26.  Write short note on :

(a) Commoditisation
(b) Marketisation
(¢) Liberalisation
27. Explain
(a) Sanskritisation
(b) Westernisation
(¢) Modernisation
28. (a) Give three responsibilities of Pahchayath.
(b) Define Nyaya Panchayath.

29. Explain three social consequences of Green revolution in India.

B. Answer any 2 questions from 30 to 32. Each carries 6 scores.

30. Tribal community is classified based on their acquired traits. Explain.

31. (a)
(b)
(c)

ME-538

Define the term — Mass Media.

Give one example.

Explain the role of Mass Media in Independent India.

(3x6=18)

2x6=12)



PART -1V

A. 26 )3 29 A aa)
A smalold 4
6 ampod aflane. yglad agommlens 3 aggponiad gmmmm;?m]:.. ;
x 6= 18)

26. ermen allaieemoe madae, -
(8) aI0SNUBBAOBEM.
(b) &ccudguIdBannem,

(C) PRID UMD

27. ailndaalean)d :
(a) VP IBAUDBANHOEMo
(b) A UDIANHOMo

(c) @ERWIMIBHAUGINOMo

28. (a) AETUOVOMINM 20N DAHAAUIGITHIBUD af) @Y.

(b) ‘MPW aIEDIRD * ag)aNIMB )T ?
29.  gamylec! andlm afllgjAUTTONG TLIANGE (I PR aflvodladlen)s.

B. 30 2y»ad 32 aio® Ga1onenglcd @9@93939 2 a) RO QTDOOALID) -
6 capod aflo.. 2x6=12)

30. cwom auarIeneg GRAEIm  ALANCUAHEDRINS @RSITUOIMOTITI
udAleoleande aflddledlee)d,.

31. (a) 6NUaNIRM BIWIBo af)AMOMI ag)am ?
(b) 60)DBIANNEMo af)9IN .
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32. A B
All India Trade Union Congress | Agrarian struggle
Formation of Jharkhand } Dalit Movement
Chipko Movement Tribal Movement
Mahar Movement Mancur Olson
The logic of collective action Worker’s Movement
Tebhaga Movement Ecologial Movement

PART -V

Answer any 2 questions from 33 to 35. Each carries 8 scores.

33. (i)
(11)
34. (i)
(11)
35. (i)
(i1)
ME-538

Explain the Malthusian theory of population growth.

Explain the theory of Demographic Transition.

Define the terms :
(a) Social Inequality
(b) Social Exclusion

Explain the three principles of Social stratification.

Define the terms :
(a) Nation
(b) State

Explain three challenges of National Integration.,

10

(2x8=16)
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PART -V

33 2)»@3 35 QO caladiEnglad ageO®BIEN. 2 af)FRAVIM  DANOOBY)®)d.

2 x 8 = 16)

8 capod allaw.
33. (i) mmavoauy adevmalleom &)0dla))8s aoaommilang auleLdme allvddle:clee)a.
(i) ®MAVoaU alBlUBTHM TVOELIMNO AfVDElBEIH6)B>.
34. (i) @969 ato@)aNal 7BQ)ale6)M:
(a) LB OB BRAVAM)o
(b) VOB GB: NIaTlag®EMo |
(i)  oBadle: cuRela:cemaTang am e allvodl&aloe)s.
35. (i) @069 ato@)mal al@gjaflems :
(a) GRWDo
(b) oY
(ii) enullw AN @ eaugpafigladd Afldlaolee)d.
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